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Thread t = new Thread();
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t.start();
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class MyThread extends Thread {
public void run() {
for (inti=10;i>=0; i--)
System.out.print(i + " ");
by
by
public class MyThreadTest {
public static void main(String args[]) {

Thread t = new MyThread();
t.start();
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Runnable @ E{H| O] A

class MyRunnable implements Runnable {
public void run() {
for (inti=10;i>=0; i--)
System.out.print(i + " ");
}

)
public class MyRunnableTest {

public static void main(String args[]) {

Thread t = new Thread(new MyRunnable());
t.start();

}
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class MyRunnable implements Runnable {
String myName;
public MyRunnable(String name) { myName = name; }
public void run() {
for (inti =10;i >= 0; i--)
System.out.printimyName + i + " ");

}
public class TestThread {

public static void main(String[] args) {
Thread t1 = new Thread(new MyRunnable("A"));
Thread t2 = new Thread(new MyRunnable("B"));
t1.start();
t2.start();

}
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Thread()
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Thread(String name)
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Thread(Runnable target, String name)
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static int activeCount() oIXl #5352 AE0] Ji-E Bletett,
String getName() A2 E0| 0|5 et

int getPriority() A EQ M /IS v

void interrupt() SRl Agf|=8 STl

boolean isInterrupted() SRl Agf=Tt SHE 4 U=KIE AL
void setPriority(int priority) 2| =0 M =S XIFelCt,

void setName(String name) A2 9| 0| XIFSHTt

static void sleepl(int milliseconds)
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void run()

A7t AEHE T O] Bl AT}
2AZS 0] A 2tofl KRIAIZIC

void start()
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static void yield()
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public static void main(String args[]) throws InterruptedException {
int tries = 0;
print("=J1E ol A EE AIFELICH");
Thread t = new Thread(new MessageLoop());
t.start();
print("Z=IOA 01 A =01 2LEDIE JICHELICE");
while (t.isAlive()) {
print("Ot& J|CHE LICH");
t.join(1000);
tries++;
if (tries > 2) {
print("& = = SAUIK!");

t.interrupt();
tjoin(); k’/_\
by
by

print("Hl &l AHE SZI");
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class Counter {

private int value = 0;

public void increment() { value++; ¥
public void decrement() { value--; }
public void printCounter() { System. out.printin(value); }
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class Counter {
private int value = 0;
public void increment() { value++;
public void decrement() { value--;
public void printCounter() {

by

class MyThread extends Thread {
Counter sharedCounter;
public MyThread(Counter c) {

this.sharedCounter = c;

}

}
}

System.out.printin(value);




public void run() {
inti =0;
while (i < 20000) {
sharedCounter.increment();
sharedCounter.decrement();
if (i % 40 ==0)
sharedCounter.printCounter();
try {
sleep((int) (Math.random() * 2));
} catch (InterruptedException e) {
i++;

}
}

public class CounterTest {
public static void main(String[] args) {
Counter ¢ = new Counter();
new MyThread(c).start();
new MyThread(c).start();
new MyThread(c).start();
new MyThread(c).start();

}







0 SI|3t= HAE (synchronized methods)

class Counter {
private int value = 0;
public synchronized void increment() { value++; }
public synchronized void deccrement() { value--; )i
public synchronized void printCounter() { System.out.printin(value);
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wait() 2l notify()
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notifyAll()
.

wait()ot
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notifyAll()
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class Buffer {
private int data;
private boolean empty = true;
public synchronized int get() {
while (empty) {

try {
wait();
} catch (InterruptedException e) {
by
by
empty = true;
notifyAll();

return data;




public synchronized void put(int data) {
while (lempty) {
try {

} catch (InterruptedException €) {

}
}

empty = false;
this.data = data;
notifyAll();

wait();




class Producer implements Runnable {
private Buffer buffer;
public Producer(Buffer buffer) {
this.buffer= buffer;

by
public void run() {

for (inti=0;i<10; i++){
buffer.put(i);
System.out.printin("A & XF: " + 0+ "B AU S

try {
Thread.sleep((int) (Math.random() * 100));

} catch (InterruptedException €) {
by




class Consumer implements Runnable {

private Buffer buffer;

public Consumer(Buffer drop) {
this.buffer= drop;

2-H[ ot

by
public void run() {

for (inti=0; i< 10; i++) {
int data = buffer.get();
System.out.printin("2-8I X}: " + data + "B H U=

LICE.");
try {
Thread.sleep((int) (Math.random() * 100));
} catch (InterruptedException €) {
by
by
by
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